a.)Produkt dveh celih stevil z enakim predznakom je vedno
pozitivno Stevilo.

(+a)-(+b) = +ab
(—a) - (—b) = +ab
PRIMERI:
(+4) - (+6) = +24
(—8)-(=5) = +40

b.)Produkt dveh celih Stevil z razli€cnim predznakom je vedno
negativno Stevilo.

(+a) - (—b) = —ab
(—a)-(+b) = —ab
PRIMERI:
(+4) - (—6) = —24
(—8) - (+5) = —40

UTRJEVANJE:
-8-(-3):’7 7-(-9)=|7 11-(-5)=’7 -8-(-9)=|7
5-(-3)=’_ -5-(-7):‘_ 15.4= 4.(_12)=|_

3e(7=l  9e13=l 5.7zl se(-m=]
-8.(-7):’_ _408=|_ -12.(-7):|_ _80(-5):|_
20.(-3):‘_ -250(-3):|_ _308=’_ 70(-3):|_

25.(-8)=1  -5.(9=l  -11.0=] | 5.c16)=
8e4=l  8e(12)=)  -8e(15)=l -7.12=]
230+(-5)=1 -4.(13)=] 4.(9=l  19.2=]
8e(-11)=|  12+(-5)=)  -18.(-5)=| |-7.90=]
7e(15)=) -5.18=1  4e21=l  |5.(15=]






